ooooooooOo0oo0o0000000
P —— B

oooooooooboobobooooboobooboOooooobooobUboUobOobDOoboOobooog
ooooooooooooboooboooboobooboooobooooo

000+4.00000000000+4.00000 0000 2/250 0.080 +4.00D0 00
000+4.00D0000000000+4.000000000000000 0 7.2/25=0.288

1
1
1
I}
/
1
I
1
I
1
1
1
1
I
I
I
I
I
I
I
I
1
1
1
I
I
I
I
I
I
I
1
I
1

=< .
~~.
~ao

+10.00D0 0000

24.6cm

+4.00D0 0 O
Joo0+4.00D00000000O+4.00D0 00 00O 0O 2/2500.080

goo+4o00D000000000O0O0O000O0O0O10cMOODOOOOOOODO7.2/35=0.206

1
1
1
I}
/
1
I
1
I
1
1
1
1
I
I
I
I
I
I
I
I
1
1
1
I
I
I
I
I
I
I
1
I
1

=~ .
~~.
~ao

+10.00D00 000
7.2cm

+2.86DO0 00O

24.6¢cm 10.0cm

0000000000000 2/33.30 0.060, +3.00D0 00

oo0ooooooooO0n 7.2/33.30 0.216

RS i—

=~ .
~~.
~ao

+10.00D00000

+3.00D0 00O

24.6¢cm 8.7cm



